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�� 2362 K, 2548 K ��aX�iFAK��#�# 0.287 s–1, 2.78 s–1 ��"� 
%)(&'G$/A�"� ln(2.78/0.287) = –Ea/2548R + Ea/2362R 
 �� Ea = ln(2.78/0.287)×R÷(1/2362 – 1/2548) = 2.27×(8.31 J/mol/K)÷(3.09×10–5/K) = 
6.1×102 kJ/mol 
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�� ;Xm$ v, N?;Xm$ vmax, >5$ p ��"� p
v
=
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# !
24.0×103

0.40×10−6
=
24.0×103

vmax
+

1
Kvmax

, 4.0×10
3

0.21×10−6
=
4.0×103

vmax
+

1
Kvmax  


#$f�� vmax = 0.49 mg, K = 1.9×10–3 Pa–1
 

 
 
 
 
 
 
 
 

=XYV
 0.12 ��� 70Mo��!�;X4@K� (2.90�1012 s–1)•0.12 = 3.48�1011 
s–1�l_4@t3�hm� 32/6.02×1023=5.32×10–23 g��� 70Mo��!�;X�#
"hm� (3.48�1011 s–1)�(5.32×10–23 g) = 1.85×10–11 g/s� 
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⎟⋅ (4×10−4m2 ) = p 1

2πmkBT
⋅ (4×10−4m2 )

=
(2.7×10−7 m kg s−2  m−2 ) ⋅ (4×10−4 m2 )

2 ⋅3.1416 ⋅ (32×10−3 kg mol−1) / (6.02×1023mol−1) ⋅ (1.381×10−23m2  kg s−1  K−1) ⋅ (300 K)

= 2.90×1012s−1
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(1) /A� ! v vmax = cp

1 n  ��  lnv = (1 n)ln p+ lnc+ lnvmax  

(2)  
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R2=0.9866 R2=1.0000 
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